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= FFT is one of the most widely used algorithms in science
and engineering. It's applications range from signal and
data processing and analysis, data compression to the
solution of partial differential equations.

= DFT(time series, waveform analysis, linear partial
differential equations, convolution, digital signal processing,
and image filtering.) @ (n?)

= FFT(Cooley and Tukey 1965) ®(nlogn)
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begin
(1)for k=0 to n-1 do ¢,=qa, endfor
(2)for h=logn-1 to 0 do
(2.1)p=2"n /1 pRHEFTE X EAE
(2.2)g=n/p (2.3)z=w¥2 // zNFp /N3 S ST ) LA R AR
(2.4) for k=0 to n-1do
if (k mod p = k mod 2p) then
() aEe*Cep
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endif
endfor
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(3)for' k=0 to n-1do bk:Cr(k) endfor // Cr(k)ﬁﬁﬁﬁkﬁﬂ’ﬂb
end
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(1)for k=0 to n-1 par-do c,=a, endfor
(2)for h=logn-1 to 0 do
for k=0 to n-1 par-do
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endif
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endfor
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end
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